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By Table III, tlte {>reHent value of a quarterly instalment for 8 years and

1 month (t.«. 33 inHtalnients, firat due one month henoe), at 9%-|23'545x
2r) =^ tA88-62 answer.

ExAMPLi:: 3.—A Mortgage, payable by half-yearly instalmenta of $60, has

7 yenra and 3 montJis to run (i.e. fifteen instalments unpaid, first instalment

due three months honce). What is its present value, interest at 10%, payable

annuiilly ?

By Table IV, the present value of a half-yearly instalment of 91 for 7 years

And 3 months at 10% annuallya$10-7 16 x 60 = 964296 answej*.

HlxAMPLE 4.—A Mortgage, payable by yearly instalments of 9210, has 15

yeavH and 3 months to run, when last instalment matures. What is its present

value, interest at OT/j annually ?

By Table V, the present value of sixteen yearly instalments of 91 » last

instalment due 183 months hvnco, at 9,}% aimuairys98-6301 x 210»91812-321.
aii8W(>r.

By Tables III, IV and V the present value of a quarterly, half-year^ or

yearly payment of Rent or Interest on Mort^i^ages or Detiuutures, can be deter-

mined to pay any of the rates given, and in tlio case of Mortgages or Debentures,

the present value of the principal may be found by Table I, as by an example
alx»ve.

5. SupiK)sing a Borrower wishes to pay off a {>ortion of his Mortgage in

addition to his usual instalment, provided it be applied in reduction of the

amount of the futui'e instalments or in reduction of their numljer. It is not to

be supposed that a Society would thus cancel a Mortgage, or portion of same,

without charging a commission for re-investment; but, assuming this to have

b<«u ill-ranged :—To find how such payment would affect equitably the subsequent

instalments as to amount or as to time.

Example 1.—A Moitgage, payable by monthly instalments of920eAch,
yields 10i% hulf-yearly interest, and has 7 yeara and 5 months to run. The
Borrower wishes to pay down 9600, and to find how long his instalments of same
amount must continue to pay off the debt.

By Table II, the present value of a monthly instalment of

91 for 89 months = 62- 101 X 20= .. ... ... 9124202
Deduct 60000

Balance 964202
Dividing this by the amount of instalment, viz. 920, will give the value of an

instalment of 91 for the necessary time~642-02 -r 20 = 3210
and present value of a monthly instalment of 91 for

37 months = 31*59 (nearest amt. below)

,
Diffei-ence on 91 instalment = 05 1 x 20» 10-20

The time therefore would be 37 months, and 910*20 additional cash to lie

paid now ; or if jxratponed till 38 months would be 910*20 -r '72320 (present

value of 91 due 38 months hence)'»914'10, to be paid as a last instalment.

Example 2.—A Mortgage, payable by quarterly instalments of 960 each,

and yielding 10% half-yearly on investment, has 5 yoai-s and 6 months to nA
before maturity of last instalment. The Borrower wishes to repay now 9300 on
account, and to know how much his instalments are to be reduced for balance of

period.


